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In the previns lecture we said cohif a coining gome (7Y and o
losing game. (N) are .

P: Ta moe cohich makes & N .

N: Y mee aeget P
Lebs look ab the detinition ob fimik .

In Colculus ; Yon have seen h‘m _P(‘m _—

A—¥ 0

Here is its ormal definttion:

Veve F8>e, ocx-d<e = Hm-L|<e.

it is lke a \os‘mﬂ djame %rma”move“ of the :Ls'L ?laﬂtr (e)

the second Tlaxﬂ er has o Zmove® £S) -

Ex Rove that lim  of 4
A—P2

oot Yevo we need to showo tht 2§50 st

oclx-21<§ =+ [x=4|<e .

|X=4| = |x—2)[x+2] < 5Ix-21<Bs <t




Y v v L v

o. 2 O At
= Ix-2<i = (x2|<5.

So §=mn %-‘L, 9—/53 s o %Docl move' ; I-e.

Yeye , o< |x-2(< minT4, 9/5‘35 = ‘rxz—éfl <& . n
_E_X;CP(‘O\(& hat  lim ﬁ —__—,,lz.
AX—»2

Prook. W eEvo e med to Show that F %o s

o<|x—2|< $ = [Ix -{z|<e.

% -{Z| = N;_EI Vx+z| _ [x-2] < 3
NK+V2| Wox+21 —  Vx+2
= [|x-2I<t < §
= 1 <A< < &
= 1<JxX <3 ol
= 1+ <VX+E <3+ |#_5sq]

<.

Se &= in z.i,é"_g IS Q%OOA mwe\\ . e, we kave ?rave.&
Vevo, oaqlx-2i<mnid, ¢l = WNx-y2l<e. =
P
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1S ba cmsideﬁnq its nech:l'o'fl: lim  fox =L

X—ro

(‘Hr IS O ’cofnnim& ﬂme\\j 13{_ ?[aner l’ms o rfwl'nnina mwe,“ 8,)

F eyo ¥y, Tx, o<x-al<s A |[F-L|>¢&, -

More in‘l?@(esb'nﬁ s the cmse cohen Lim Pex) does NOT exist-

X —A
VL , Jevo, ¥ 8%, Ix, ol[x-a<S A Weo-LI >
Ex. Tove that lim  Sin (L(x_) does NOT exist.

A—»0

e wil shao this on (a)eclnesdaa.



